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1. They are imaginary (covered in unit 4)

2. There are 4 real zeros

3. The power tells you the number of zeros,
so there are "m" 6. a 4

4. (x +5)(x° - 5) b -

5. (1+3x)(1-3x+9x°)

8 - 11 See next page

12. P(x)= x*(x + 5)(x - 3)

13. P(x) = x(x + 2)(x - 2)

HW 5-4 Answers

Oct 28-7:56 PM

end behavior) - no calculators!

8. P(x)=x(x+1F 9. Q)= (x+3)(x- Dx-2)

AN

TIC

M| T/C 7‘

Y
10. R(x) = #¢(x - 2)(x - 3) 1 M) F(x + 2)%(x - 3)(x - 4)

[z m]|e

Find the zeros of each polynomial, state the multiplicity of each. Sketch (including the

Oct 29-7:33 PM

Warm-Up:

Sketch a graph of f.

November 13, 2018

1. The graph of a polynomial function never passes through the x-axis but passes
through the y-axis once. What does that tell you about the zeros of the graph?

T
ey are imadingri

2. The graph of a polynomial function passes through the x-axis four times and the
y-axis once. What does this tell you about the zeros of the graph?

thece ¢

3. Consider the polynomial P(x) = AX" + Bx. What can you determine about the
number of zeros from the equation?

In4 &5, factor:

4. x'+5x*-5x-25 5. 1+27x°
Without your calculator:
o state degree
b. state the sign of the leading coefficient
¢ sketch (no graph paper) the end behavior
6. P(x)z-2x +4xP-2x+7 7. P(x)=4x" +2x7 - 5x
a 4 " a
b, [N

Oct 29-7:32 PM
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Oct 28-8:08 PM

A function f has zeros at -1, 3, and 5. We know that f(-2)
and f(2) are negative, while f(4) and f(6) are positive.

=1 3 S

& - —

You have been given a set of problems.

The directions for some say, "factor” whereas others say,
“solve”.

What's the difference between the two? How would you expect
your answers to look?

fackor > simpl. A4
Solve— find the walnls) of Phe variable

Oct 28-8:13 PM

Oct 28-8:20 PM
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(hint: be careful with this one!)

3. 64X6- lggfo_;r? 6": Zc“b’_s

Factor completely each of the following:
1. -1 DOTS 2. x*-2x"+1 S’fj“fz' (B )1 ) ?’ §x® \>)ll
(M) Yxt-1) 3E-N=1Y = E (Zoerd) (9% 2kt e )(4 *2‘(1,)

= (x- l)(u\-l)(v-l)(xﬂ)

“x 4)—:/&+I)1

") (x*+)(x3%- 1)
x4 (x741) le-lxe)

4. 2x° +x'+ 20 + X°
S ERETIY

’AL[ (2 rl)+l(2><-l)]

=><"(2x+))(x2n)

Oct 28-8:21 PM Oct 28-8:22 PM

5. {:\Ex;" QE')- T N
x :) ST 7. 25x™" - 625
K60 W) : A5(25)

&5 (x"-S)(xr‘rS)
6. 2(x + 2 + (x+2)-3 Lk wunl
"2(4?-{.(4—3 P""*—(‘—-Q 3

N <Sum All of the previous problems were factorable.
'; qu-guf"};,\-3 If we set each of them equal to O, only some
- O o) are solvable. Why?
(“ S’;;E&:S;- (D We have more Pen ) unkaown .
“(x2-(2Ax2)13)
(xH) (x4 +3)
“(x )(Axr? )

Oct 28-8:24 PM

Oct 28-8:25 PM

Solve each of the following (factor completely first): 3. x*-13x°+36=0
1. 4x°-8x>+4x=0
2. x°-16x°= 0 4, 3x*-24x=0
<“(x3-16) -0 3 (x3-8): 0O
x*(x%-4)(x%44) 0 K (x-2) (P2 +4)0
x*(x-2)(x+2)(x?r4): O 30| x-2:0| x2+2x44: O
X0 [x-2:0] x32:0] x*+d:0 O w2 x%2x e\ Mo
X:0 |X:Z YZ\IA ,{)(..\ZB
2 forisy Tl
£0,12,%43 ¥ e
Oct 28-8:34 PM

Oct 28-8:26 PM
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